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Language — Part I — SANSKRIT — Paper I
(Poetry and Grammar)

Time Allowed : 2½ Hours ] [ Maximum Marks : 100

‚ÍøŸÊ — (1) ¿U¬Êß¸ ∑§Ë Sflë¿UÃÊ ∑§ Á‹∞ ¬˝‡Ÿ ¬òÊ ∑§Ë ¡Ê°ø ∑§⁄¥U–  ÿÁŒ Sflë¿UÃÊ ◊¥ ∑§Êß¸ ∑§◊Ë Ÿ¡⁄U •Ê∞, ÃÊ
ÃÈ⁄¥UÃ ∑§ˇÊÊ ¬ÿ¸flˇÊ∑§ ∑§Ê ‚ÍÁøÃ ∑§⁄¥U–

(2) ¬˝‡ŸÊ¥ ∑§Ê ©ûÊ⁄U ŒŸ ∑§ Á‹∞ ŸË‹ ÿÊ ∑§Ê‹ SÿÊ„Ë ∑§Ê ©¬ÿÊª ∑§⁄¥U •ÊÒ⁄U ⁄UπÊÁøòÊ ’ŸÊŸ ∑§ Á‹∞
¬Áã‚‹ ∑§Ê ©¬ÿÊª ∑§⁄¥U–

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Note : (i) Answers should be in Sanskrit, English or Tamil except for those that are to
be answered in Sanskrit.

(ii) In writing Sanskrit, Devana-gari Script should be used.

I. 1. Give the meaning of any four : 4x1=4

(a) Ÿ⁄U∑§Ä‹‡Ê◊˜ (b) ëÿÈÃ— (c) ¬̋ôÊ— (d) ¡ÉÊÊŸ

(e) ∑§‹òÊ◊˜ (f) ◊Ê¥‚◊˜ (g) ◊ÊL§Ã— (h) ‹Ê÷—

2. Identify the grammatical form any four : 4x1=4

(a) ◊Ÿ (b) œŸÈÁ· (c) •Ê‚ËÃ˜ (d) ∞àÿ

(e) ¡ÈªÊ¬ (f) ∑È§flËÃ (g) ÷ÄàÿÊ (h) ŒœÃÈ—

3. Combine any four : 4x1=4

(a) ßfl + •ÊÁüÊÃ— (b) ¬˝áÊfl— + ¿UãŒ‚Ê◊˜

(c) •ÁÃ + ©ÛÊÃ◊˜ (d) ◊Œ + •ãœ—

(e) ‚„ + ∞fl (f) ÿSÿ + ßŒ◊˜

(g) •Ê‚ËÃ˜ + ©îÊÁÿãÿÊ◊˜ (h) •äfl⁄USÿ + ßfl
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4. Split any four : 4x1=4

(a) SÿÊÁÛÊÁ‡Ê (b) ⁄UÊ¡ãŒÈ—

(c) •ªÎäŸÈ⁄UÊŒŒ (d) ÃÊ·ÿÛÊ

(e) ŸÊ‚Áj— (f) ¬Á⁄Uë¿UŒSÃSÿ

(g) ◊ŒÊãœ— (h) ‚àÿŸÊ‡ÊÊlÈÁœÁc∆U⁄U—

5. Dissolve any four : 4x1=4

(a) œË◊ÊŸ˜ (b) •ôÊÊŸ◊˜ (c) ©¬flŸ◊˜ (d) ÁflEÊÁ◊òÊ—

(e) Ÿ⁄U∑§Ä‹‡Ê◊˜ (f) ¬˝àÿ∑§◊˜ (g) œ◊Ê¸à◊Ê (h) ∑§¬ÊÃ⁄UˇÊÊÿÒ

6. Fill in the blanks any four : 4x1=4

(ÿÃ—- ÃÃ—, ‚fl¸òÊ, •l, ÁflŸÊ, •Á¬, ¬È⁄UÊ, Ÿ◊— ©¬Á⁄U, ∑È§Ã—)

(a) flÎˇÊSÿ __________ πªÊ— fl‚ÁãÃ–

(b) Á‡ÊflÊÿ ÃS◊Ò __________–

(c) __________ œ◊¸— __________ ¡ÿ—–

(d) ‚— __________ •òÊ •ÊªÁ◊cÿÁÃ–

(e) àfl◊˜ __________ •Êªë¿UÁ‚–

(f) ß¸E⁄U— __________ •ÁSÃ–

(g) ¡‹◊˜ __________ ◊ËŸÊ— ŸÊÁSÃ–

7. Give the opposites any four : 4x1=4

(a) ◊„ÃÊ◊˜ (b) ‚àÿ◊˜ (c) •ÊÃÈ⁄U— (d) ÁŒfl◊˜

(e) ⁄UˇÊáÊ◊˜ (f) ◊ÊÃÊ (g) œ◊¸— (h) ‚ŒÎ‡Ê—

8. Write the correct cases : 4x1=4

(a) øÊ⁄U ÷ÿ◊˜– (b) ‹ˇ◊Ë ‚ÁflÃ—–

(c) Œ˝ÊáÊ fl˝ËÁ„—– (d) „Á⁄U ‚√ÿÃ–

9. Choose the best answer : 4x1=4

(a) ªËÃÊÿÊ— ©¬Œ‡Ê— (∑Î§cáÊÊÿ/•¡È¸ŸÊÿ)

(b) ÁflcáÊÊ— •flÃÊ⁄U— (∞∑§ÊŒ‡Ê/Œ‡Ê)

(c) •ÊøÊ⁄U— ¬⁄U◊— (•Õ¸—/œ◊¸—)

(d) ◊ÊÃÊ ø Á¬ÃÊ ø (Á¬Ã⁄UÊÒ/◊ÊÃÊ Á¬Ã⁄UÊÒ)
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10. Change the voice : 4x1=4

(a) •„◊˜ ¬Ê∆¥U ¬∆UÊÁ◊–
(b) ⁄UÊ◊— flŸ¥ ªêÿÃ–
(c) ‚ËÃÿÊ ªÊŸ¥ ªËÿÃ–
(d) ŸÎ¬— ‡ÊòÊÍŸ˜ ¡ÿÁÃ–

II. 11. Answer in one word : 5x1=5

(a) flÒflSflÃ— ∑§—?
(b) ÁŒ‹Ë¬Sÿ ¬àŸË ∑§Ê?
(c) œ◊Ê¸à◊Ê ∑§—?
(d) ‚Ê◊ÊãÿÃ— ‚◊Ê‚— ∑§ÁÃ Áflœ—?
(e) ∑§— ‚àÿŸÊ‡ÊÊÃ˜ Ÿ⁄U∑§Ä‹‡Ê¥ ŒÎc≈UflÊŸ˜?

12. Answer in one sentence (Any five) : 5x2=10

(a) ‚ÈŒÁˇÊáÊÊ ∑§ËŒÎ‡ÊË S◊ÎÃÊ?
(b) ⁄UÊ◊Sÿ ÷˝ÊÃ⁄U— ∑§?
(c) ⁄UÊ◊— ∑§ÁÃfl·Ê¸ÁáÊ ⁄UÊíÿ¥ ‡Ê‡ÊÊ‚?
(d) Áflª˝„Ê ŸÊ◊ ∑§—?
(e) flÎ∑§ÊŒ⁄USÿ ªÁÃ— ∑§Ê?
(f) Œ˝ÊÒ¬ŒËfløŸSÿ ∑§Ê „ÃÈ—?
(g) ÁŒ‹Ë¬Sÿ Áfl‡Ê·‹ˇÊáÊÊÁŸ ∑§ÊÁŸ?
(h) ◊Êá«U√ÿ— ‡ÊÍ‹ËŸÊ˘÷ÍÃ˜-Á∑§◊ÕZ ‚— Á∑¥§ ∑Î§ÃflÊŸ˜?

III. 13. Explain any two with reference to the context : 2x5=10

(a) ““ªÈáÊSÃflŸ ∑È§flË¸Ã ◊„ÃÊ¥ ◊ÊŸflœ¸Ÿ◊˜””
(b) ““◊ŸÊ⁄U◊Ê◊Êà◊flœÍÁ◊fl ÁüÊÿ◊˜–””
(c) ““ÁfllÊÁflŸÿ‚ÊœŸ◊˜””
(d) •àÿÈÛÊÃ¬ŒÊM§…U— ¬ÍíÿÊÛÊÒflflÊ◊ÊŸÿÃ˜–

IV. 14. Quote from memory any three : 3x2=6

(a) ÃòÊ ‚àfl¥ ÁŸ◊¸‹àflÊÃ˜ ...........
(b) ⁄U¡SÿÃÊÁŸ ¡ÊÿãÃ ...........
(c) ⁄U¡Ê ⁄UÊªÊà◊∑¥§ ...........
(d) ‚àfl¥ ‚Èπ ‚Ü¡ÿÁÃ ...........
(e) ‚fl¸ mÊ⁄U·È Œ„˘ÁS◊Ÿ˜ ...........
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V. 15. Declension any one : 1x5=5

(a) øÃÈ⁄U‡ÊéŒ— (Ÿ¬È¥)

(b) mÊÒ (SòÊË)

(c) ∞∑§— (¬È¥)

16. Conjugation any one : 1x4=4

(a) ¬ø˜ (¬Ê∑§) ‹È≈˜U

(b) ŸË (Ÿÿ˜) ‹Ê≈˜U

(c) ¬Ê - ‹È≈˜U

VI. 17. Answer any two of the following questions : 2x10=20

(a) ÁŒ‹Ë¬Sÿ fláÊ¸Ÿ¥ Sfl÷Ê·ÿÊ Á‹πÃ — -

(b) ⁄UÊ◊‡ÊÊ‚Ÿ¥ Sfl÷Ê·ÿÊ ÁflflÎáÊÈÃ — -

(c) Œ˝ÊÒ¬lÊ— fløŸ¥ Sfl÷Ê·ÿÊ ÿÕÊª˝ãÕ¥ Á‹πÃ — -
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